
Balancing Equations
I can solve balancing equations by working out what the missing number is.   

1. 8 + = 17 + 3

2. 42 + = 99 - 13

3. 87 - = 22 + 45

4. 72 - = 100 - 56

5. 63 - 47 = 72 -

6. 49 + 72 = 100 +

7. 62 - 42 = 78 -

8. 100 + 22 = 86 +

9. 56 + = 82 + 27

10. 42 + 15 = 88 -

11. 23 + 87 = 200 -

12. 75 - 28 = 46 +



Balancing Equations Answers
I can solve balancing equations by working out what the missing number is.   

1. 8 + 12 = 17 + 3

2. 42 + 44 = 99 - 13

3. 87 - 20 = 22 + 45

4. 72 - 28 = 100 - 56

5. 63 - 47 = 72 - 56

6. 49 + 72 = 100 + 21

7. 62 - 42 = 78 - 58

8. 100 + 22 = 86 + 36

9. 56 + 53 = 82 + 27

10. 42 + 15 = 88 - 31

11. 23 + 87 = 200 - 90

12. 75 - 28 = 46 + 1


